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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forMG_O
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MG

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

06:15 353 120.0 0.504 FA| FHA@06:15 ARFFEF (KRAEREE)
07:15 353 120.0 0. 504 BH| FnHA@07:15 KRHIEF (KRFEERES)
08:15 353 120.0 0. 504 FH| FnHA@08:15 KRFFEF (RAEFRER)
09:15 353 120.0 0.504 FA| FnHA@09:15 RFFEF (KRAEREE)
10:15 353 120.0 0. 504 FA| FhHR@10:15 KRHMIEHF CRALESR)
11:25 353 120.0 0. 504 FH| FnHf@11:25 KRFEF (RAERES)
12:30 353 120.0 0. 504 FH| FiHA@12:30 KREFEF (RAFERHE)
13:35 353 120.0 0.504 f| FHR@13:35 KRHIMIEHF (RAKLESR)
14:40 353 120.0 0. 504 M|  Fiffe14:40 KEiEF (RFEERES)
16:00 353 120.0 0.504 M| FiHA@16:00 KEFEF (RAFERHE)
2311 3530.0 (100%) 1200.0 3 F&KEC: 1710.0, PH: 6.5

unusual large postFgEt from yesterday (622), set to 360.0 ml.
FEX 2 B RECEIIR R K.
REXEBLSHHEREC/PHIETRE, AIRERIMIEELRTR
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BYiE) | GEBIATE (7)) | EME (EH/fx) | EBRERE (B/R) | XS SERE

07:45 300 120.0 0. 504 FH| {BRi%@07:45 KEFEF (GRAERSE)
08:45 300 120.0 0.504 PR {Ri%@08:45 KRHMIZHF (KAL)
10:50 300 120.0 0.504 FA| {Ei%@10:50 KFFEF (RAERE)
12:05 300 120.0 0. 504 PA| {RRi%@12:05 KRFEF (RAEES)
13:20 300 120.0 0.504 FA| 1Bi%@13:20 KRFFEF (KRAEREE)
15:25 300 120.0 0.504 FA| {Ri%e15:25 KREIEF (REAERS)
=411 1800.0 (63%) 720.0 32 KEC: 1800.0, PH: 6.5

EORGEBBT R AR Y2 (300 vs 364.0))

BRIASERRIERE99. 0 ml.
RE X i Bl ECE IR FR 5k .

FER BB HEREC/PHESRR, FIREFNIMEEIR K
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BTiE) | GEBIATK (R) | EME (EH/&) | EBRERE (/R | XK R

08:25 300 110.0 0. 462 E[  1Ri18008:25 KREFEF (RFAEREE)
09:25 300 110.0 0.462 |Z=| 1RiBE09:25 KENF2ZF (KABIEEEE)
10:30 300 110.0 0.462 |Z=| 1RiB@10:30 KENIEF (KRAHEREE)
11:35 300 110.0 0.462 [ =| (Ri%e11:35 KEIZEF CGRAEESE)
12:40 300 110.0 0.462 (Z=| (Ri%012:40 KEIEF CGRAMEESE)
13:45 300 110.0 0. 462 sl Ri&013:45 KEIZEF (GRAEEE)
14:50 300 110.0 0. 462 | 1Ri%e14:50 KRHEF (RAMEESE)
16:05 300 110.0 0.462 | =| 1RiB16:05 KEIPEF (KRAEREE)
2311 2400.0 (8%) 880.0 323#HKEC: 1710.0, PH: 6.5
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MG

BFE) | BRI () | s (ERH/#F) | EREE (/X)) | X5 SRR

08:40 300 110.0 0. 462 5| 1BRi%@08:40 RHFIEF (KHAERHE)
09:40 300 110.0 0. 462 5| {Ri&009:40 KENFEF (RFE1EREE)
10:45 300 110.0 0. 462 = BiRe10:45 RHEEF (REERR)
11:40 300 110.0 0. 462 5| BRi%e11:40 RHEF (KAERSE)
12:40 300 110.0 0. 462 5| {Ri%012:40 KEIEF (RE1EREE)
13:45 300 110.0 0. 462 =l BiRe13:45 RHEEF (REERBR)
14:50 300 110.0 0. 462 5| 1BRi%e14:50 RHEF (KEAERSE)
16:00 300 110.0 0. 462 5| {Ri%016:00 KENFE/F (RFE1EREE)
2311 2400.0 (8%) 880.0 323#HKEC: 1710.0, PH: 6.5

EORGEBRBT R AR Y23 (300 vs 333.0))

BRIASERRIERE99. 0 ml.

FE R it [l RECE R R K .
FER BB HEREC/PHESRR, FIREFNIMEEIR K
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